Trigonometric Functions - Answers
June 2017 Mathematics Advanced Paper 1: Pure Mathematics 3
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a=awrt 0.381 Note that the degree equivalent @ =awrt 21.8° is A0

Replaces cot2xby S252%
sin2x

and cosee2x by in the Ths

sin
Do not be concerned by the coefficients 5 and -3.

Replacing cot 2x by —— does not score marks until the tan 2 has been replaced by SP2%
tan2x Ccos2x

is mark

They may state xsin 2x = 5cos 2x—3 =2sin 2x which implies

cso Scos2x—2sin2v=3  There is no need to state the value of 'c'
‘The notation must be correct. They cannot mix variables within their equation

Do not accept for the final A1 tan2x= ——2x within their equations

Attempts to use part (a) and (b). They must be using their R and ¢ from part (a) and their ¢ from part (b)
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Score for dealing with the cos, the @ and the 2 correctly and in that order to reach x =..
Don't be concerned if they change the variable in the question and solve for 6= (as long as all operations have
been undone).You may not see any working. It is implied by one correct answer.

You may need to check with a calculator.

3

Eg for an incorreet @ cos(2x+1.19) = —== => x = ~0.105 would score M1 dM1 A0 A

One solution correct, usually x =0.3/0.300r x=2.46 o in degrees 17.2°0r 141.(0)°

Both solutions correct awrt x=awrt 0.30, 246and no extra values in the range.
Condone candidates who write 0.3 and 2.46 without any (more accurate) answers
In degrees accept awrt 1 dp 17.2°,141.(0)° and no extra values in the range.

Special case: For candidates who are misreading the question and using their part (a) with 2 on the rhs.
They will be allowed to score a maximum of SC M1 dM1 A0 A0
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You may not see any working. It is implied by one correct answer. You may need to check with a calculator.

Eg for an correct @ and R cos(2x-+0.381) =~ = x=0.405
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